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https.//www.evanmiller.org/ab-testing/sample-size html

Question: How many subjects are needed for an A/B test?

Baseline conversion rate:| 20 % 20% [ link ]
Minimum Detectable Effect:| 5 % 15% - 25%

@® Absolute Conversion rates in the gray area will not be
O Relative  distinguishable from the baseline.

Sample size:

1,030

per variation

Statistical power

1-B:

Significance level a: 5%

80%

AfO[7} IMQIX| =15}~ |

1) Baseline:
7|& X|EE Soff orest
SRS S MO X[H &

2) Minimum Detectable Effect:
“0|2F3 2 K}O[Z} LIOf
AFO[Z} QICa THEISHAICE 1

HAAX7 2788 &

3) Statistical Power : (1 -2& @&)
’I -

ANZ= A/B 250 X017 I=H| =
XtO[7} Qictn g =5

4) Significance Level: §2|#&, 15 25
AN 2= Xt0|7t §l=HE
AtO|Z} QlCtn & =HE
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